usl*CurMon:Entry$ usl*CurMon {ErrorFlag==0} asym_usl/ppm:pattern_number {ErrorFlag==0} asym_usl

c 12000 10000 Entries 70706
S 51 evilree - 5
3 | 3000} o s 900F 3.806
%:} - 10000 Entries 283026 o xx e y -

| BO00 [y XX XXX XH_ XX XX TxE 800 Std Dev

4 }a——gx-—}:-— T Rep I —-—-}{%}{}{}{}{ B

: : 3 Mean 4.68 T TTIT i o ”

| T _“ | B naermow

I 8000 40001 200 v °

3__ ,, Std Dev  0.06098 2000 1 E Overflow 4191

2 ~2000 - T 500~

- + 4000 ! -

I 4000 LT UL L L 400

- _ XX x U SIS S S S 300 -

N - # N

X s —8000 [~ 8 x e -

DIIIIlIIII IIII|IIII|IIIIIIII|II:":‘IU D I|III III|II _IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII _IIII|IIII|IIII|IIII|IIII|IIII

0 50 10C 0 200 250 00 350 : : : : : d 475 48 4.85 0 100002000030000400005000060000700008000090000 -3000 -2000 -1000 0 1000 2000 3000

Entry$ usl*CurMon pattern_number ppm

run6384 000 maindet usl.png



dsl*CurMon:Entry$ dsI*CurMon {ErrorFlag==0} asym_dsl/ppm:pattern_number {ErrorFlag==0} asym_dsl
c Entries 70706
e - : - i
3 o050 ' - | B X 5000 Mean 0.1251
. 10000 mniries 265026 L7 R KK X X :
S Z 1000 xocodBodiioon: g Boodxooson oo - StdDev 321
b I Mean  -3.797 ik T 4000 Underl 0
B — 5 u naermnow
: 8000 500 _
—1 -5__ — Std Dev 0.0109 i B Overflow 0
-2 i =- -
25 4000 —200 2000
3 8 —1000 A A L AL g R R H}{}{}{}{}{}{é}{}{}{
— | MM XM MM MM MK KM MK M MK X —
B . 2000 : }{}{}{}{ X § . HHHHEHH K o 1000+
35 : ~1500 X I
-..-._-n..an_.lu. Al . .u_--...”‘. L [ [ P L I|II'.:"":‘I':.‘|3 D_I | | ] | | | 1 | _I | I|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII D_I L1 1 | I I I I | L1 1 1 L1 1 | I I
0 50 100 150 200 250 300 350 -3.84 -3.82 -3.8 -3.78 -3.76 0 100002000030000400005000060000700008000090000 3000 -2000 1000 0 1000 2000 3000
Entry$ dsI*CurMon pattern_number ppm

run6384 000 maindet dsl.png



usr*CurMon:Entry$

usr*CurMon

B

ET: T
||||||||IIIII|II|||||||

o
=

LT
e

A

0 50 100 - 0
run6384 000 maindet usr.png

200 250

D0 350

Entry$

x10°

10000

8000

6000

4000

2000

usr*CurMon {ErrorFlag==0}

evtlree
Entries 283026
Mean 4.803

Std Dev  0.04693

47 475 48 485 49

4 95 5
usr*CurMon

10000

8000

6000

4000

2000

-2000

-4000

-6000

-8000

10000

asym_usr/ppm:pattern_number {ErrorFlag==0}

- o o
- i X
__ p p
B X M K XX

MMM MKRX XX W WX p
B MM MK KET Hxx x xkx % X
[ RHTTHX MM XT3 MM TTHRXXRX X
T TTT TTTTTTT T1 |l TTTTxTT8 ] |73 xx;
Ll Ll 1L Lil Lpplddsddly KX WK
pC K Rk | X mxxx g- R L L
il o L % L3 )T R X
E MR R K O H
__ e
- s o
_III|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII
0 100002000030000400005000060000700008000090000

pattern_number

asym_usr

i Entries 70706
800 Mean -5.27

i Std Dev 1509
700

i Underflow 5279
600 Overflow 5330

— 1l
500
400~
300}

: I I | I 1 1 1 | I I | [ 1 1 1 | [ 1 1 1 | I 1 1 1
-3000 2000 -1000 0 1000 2000 3000

ppm




dsr*CurMon:Entry$ dsr*CurMon {ErrorFlag==0} asym_dsr/ppm:pattern_number {ErrorFlag==0} asym_dsr

c 0 - Entries 70706
o - y ; - - -
5 : 10000 1500~ % % -
3 - i _ - X XX MM HMHHH KK P - Mean 1.042
- 051 Entries 283026 L5 08 oo i %% % Sxx xxx, L Xx -
2 - i %2}:}: }{x}{xgx}{}{x-—x HORK AR K KN m R KK EST 4000
- - 1000FETTT T T T TTT T T T X TTTATTT T TXTTIT | - Std Dev 376.2
1= 8000 Mean -3.757 ! 3500
- - I - Underflow 0
- - 500 [
-15F i Std Dev  0.01347 - 3000¢ Overflow 0
- 6000— - -
: ;o — D_ EEDD__
-2 . - : -
- - i 2000~
o5l 4000— -500 (- I
B i i 1500~
af - 1000 L L LLLLLGLLLLLL gl L L s L 1000F-
: : 2000 - Seig iRt ool ﬁ%ﬁﬁix%éi L .
l " - - ) b w b S -
-3.5F : i _ - y :
.-.-u-h-.uu n...l.i.n....-ﬂ-.. s i o lan ||||'.:"":‘I':l3 | | I - | | L1 | | L1 1 | | I L .| | | _I [ | |||||||||||||||||||||||||||||||||||||IIII D_I L1 1 | [ 1 [ I | L1 1 | | | L1 1 |
0 50 100 150 200 250 300 350 -3.82 -38 -378 -376 -3.74 -372 -37 0 100002000030000400005000060000700008000090000 -3000 -2000 -1000 0 1000 2000 3000
Entry$ dsr*CurMon pattern_number ppm

run6384 000 maindet dsr.png



yield usl:pattern_number {ErrorFlag==0}

0.0325

0.032

0.031

0.0305

100002000030000400005000060000700008000090000
pattern_number

run6384 000 pairTree usl.png

6000

5000

4000

3000

2000

1000

yield_usl {ErrorFlag==0}

htemp

Entries 141440

Mean 0.03158

Std Dev  0.0003922

l
0.0325
yield usl

1 |I
0.032

15000
: %
i %
- v % %
10000~ VERVIVRE REVERVER GRS R % % %ol K
% xxxgxx % % WX MM T MM X
KRR TTTE 5 ey | | %Soexxikxx ] | T o3
%nﬁﬁkﬁn K%Knnn nnxxﬁgﬁﬁ Egnxxﬁ
5000
5000
ﬁxxgxgn WX XL xxxxgxxx Lo wwx
e nedne LLLS T LS T L] [ 55T R g T | Sk
R x| TR ££§ “xT %
10000 — 5 O MK
- 5 L L
i % %
i % %
15000
|||||H|||||||h|||||||d|||||||”|||||||”|
0 100002000030000400005000060000700008000090000

asym_usl/ppm:pattern_number {ErrorFlag==0}

pattern_number

7000

6000

5000

4000

3000

2000

1000

0

asym_usl/ppm {ErrorFlag==0}

A

PairTree
Entries 141440
Mean 5.864

Std Dev 2471

—15000 -10000 -5000 0 5000 10000 15000

asym_usl/ppm



yield_dsl:pattern_number {ErrorFlag==0} yield_dsl {ErrorFlag==0} asym_dsl/ppm:pattern_number {ErrorFlag==0} asym_dsl/ppm {ErrorFlag==0}

: _. ; htemp 000l _ 4000[- PairTree
025451 | 5000 T RS -
- o P i Entries 141440 TLIITT TITT I T-TITUITUIITTTITTITTT 3500 Entries 141440
0.0255 - 2000 (- -
-'3' ; 4000 — Mean  —0.02563 I 3000 Mean 0.1462
02 ’ - I -
959 - 1000 {15 -
i Std Dev 4.966e-05 : | 2500 — Std Dev 1058
D-0256 3000 — At -
i T nrEnen e 2000
02565 i I 1 -
2000(— =1000 =P TR T L RUTET (S TITTT T TS T T 1500
0.0257 - I -
2 i 2000 [} 1000
':'25?5: 1000 — IR A R N ! 1 N
- -_-'-iff'j' i |l - - - - 171 B N R 500
0.0258 — | _ il ~3000 -
:IIII|IIII|'IIII|I'I-I-'II|IIII|IIII|IIII|IIII|IIII _I|IIII I|IIII|IIII|IIII|II|IIII J_III _IIII|IIII|IIII| I|II| |IIII|IIII|IIII D_Illl I|IIII|IIII|IIII|IIII|I I|II
100002000030000400005000060000700008000090000 .:02595.0258.0257%.0250.02566.0256.02556.0258.02545 0 100002000030000400005000060000700008000090000 -3000 -2000 -1000 O 1000 2000 3000
pattern_number yield_dsl pattern_number asym_dsl/ppm

run6384 000 pairTree dsl.png



yield_usr:pattern_number {ErrorFlag==0} yield _usr {ErrorFlag==0} asym_usr/ppm:pattern_number {ErrorFlag==0} asym_usr/ppm {ErrorFlag==0}

0.0336 h -

; _ temp| ...F -3 PairTree
0.0334— - - x C

N - Entries 141440 - NN VRN - Entries 141440
0.0332F :. 50001 10000 o oS00 X 3X 300k Ko o 7000

— | ol S O T T M HEE T }{}{}{}{}{}{}{g-- --HH% ot B

- - Mean 0.03241 < x % RRRTK n Mean —2.098
0.033 6000

: i 5000 :
0.0328E 40001 -
. 5 - Std Dev  0.0003036 : 5000 :_ otd Dev 2640
0.0326 i OF i

3000~ 4000

0.0324 48 - -5000 -

ok i g 3000
D.0322 2000~ :Wi%;{n“gigwiégn 305 toiveod g%iﬁiﬁﬁi -

: I 10000~ &TK KT TR S -
0.032— I - * X 5 x 2000

B n - # . 3 s -

- 1000+ : :
n.namz - 15000 — 1000
0.0316 - - B x C

_IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII |II I|I I|I I|I _EDDDD_IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII 'D-IllllllllLl II|IIII|IIII|II |IIII|I

100002000030000400005000060000700008000090000 $0315 0.032 0.0325 0.033 0.0335 0 100002000030000400005000060000700008000090000 —20000-15000-10000 5000 0 5000 10000 15000
pattern_number yield_usr pattern_number asym_usr/ppm

run6384 000 pairTree usr.png



yield dsr:pattern_number {ErrorFlag==0}

0.0251

0.0252

IIII|I.I:II|.:iIII|IIII|IIII|IIII|II§III|IIII|IIII

100002000030000400005000060000700008000090000
pattern_number

run6384 000 pairTree dsr.png

4500

4000

3500

3000

2500

2000

1500

1000

500

yield_dsr {ErrorFlag==0}

htemp

Entries 141440

Mean —0.02535

Std Dev 7.343e—05

—0.0256 -0.0255 -0.0254 -0.0253 -0.0252 -0.0251

yield dsr

2000

1000

—-1000

-2000

D_IIE{{‘}{]I

asym_dsr/ppm:pattern_number {ErrorFlag==0}

B
W
e

|
R

#
e .
2 - U
HE R -
HUEE W W HEAEN HE HRE WENE
A g G A S S A A
TTHAHERGH T THEH AN TR %g}{}{

o —
I
7 1
o7 1
1
I
I
I
I A F
I
I 4 F
I
I I
I
71
I
I 4
o1
I
7 1
[ T 1
I
1
1
7 1
1 1
T 1
I
1
I
[ T 1
[ 7 1
7 1
1
1
1

WO
|
|
R )
W

)
WoOWRORHE
wRE
R
by
|
R R
HHH
HHE |
WO
O
oW

w0

s ey

—k

-
o W
D_
D_
M-
o -
'
D_
D_
o -
=
o —
D_

i | S

700008000090000
pattern_number

6000

5000

4000

3000

2000

1000

asym_dsr/ppm {ErrorFlag==0}

PairTree
Entries 141440
Mean 1.048
Std Dev 529.8

-2000

-1000

0

1000

2000
asym_dsr/ppm




asym_usl

asym_dsl

asym_usr

asym_dsr

run6384 000 asym maindet mutual correlation=CQO

n.ny — —70( y —
0.008 0.008 70t

- —{B00 -
0.006F 0.006

B B —60(
0.0041 1 0.0041

- - —50¢
0.002 0.002

- - 400

| o
N - N
0.002 -0.002 30t
-0.004 -0.004 50(
0.006F ~0.006F

B B 10¢

-0.008 T RS NS P RS T T P -0.008- | | | -| - .'| | |
—0.0080.0060.0040.002 0 0.0020.0040.0060.008 0.01 —0.0015 -0.001-0.0005 0 0.0005 0.001 0.0015
asym_usl asym_dsl

7.0015— o 7.0015 B

: o : —70(
0.001— 0.001— N

- —80( - 80C

IJ.D{}DE_—-. eoc 2.0005 _lenr

L -

0 0 400

. |

).0005 - 2.0005 30

1 1 20(

-0.0011 ~0.001
- - 10¢
).0015 |- u 2.0015 =
_I | L1 1 | L1 1 | L1 1 I L1 1 I L1 1 I L1 1 | L1 1 | L1 1 | L1 1 [ 1 | L1 1 | | | | | I | | | I | | L1 11 | | I | I |
—0.0080.0060.0040.002 0 0.0020.0040.0060.008 0.01 —0.0015 -0.001-0.0005 0 0.0005 0.001 0.0015
asym_usl asym_dsl
n.ny — m.ny —

- N N - —{70(
0.008- 70 0.008-

- N - ]
0.006 _lgor 0.006 60
0.004— 0.004 ]

- —50( - 501
0.002F 0.002F

- - 400

O O m -
0.002 g -0.002 30

- m -

0.004 g -0.004F 20(
m -
0.006 -0.008F

- - n 10(
0.008 -0.008F .

—D..E”_I | L1 1 | L1 1 | L1 1 I L1 1 I L 11 I L1 1 | L1 1 | L 11 | L 11 —D.ﬂ1_l | | | I | | | I | | | I | | | I | | L1 11 | | I | I |
—0.0080.0060.0040.002 0 0.0020.0040.0060.008 0.01 —0.0015 -0.001-0.0005 0 0.0005 0.001 0.0015
asym_usl asym_dsl
2.0015}- O B0t 2.0015( — 70
0.001— 5o 0.001— —60(

7.0005 - 7.0005 - —50¢

B 40¢ B

N B 40¢

OF m o ™

[ u 30( [

- - 300
).0005 = ).0005

- 200 -

- - 200
-0.001 ~0.001

B 10( - 100
).0015 - 2.0015 -

_I | L1 1 | L1 1 | L1 1 I L1 1 I L 11 I L1 1 | L1 1 | L 11 | L 11 B 1 1 | | I | | | I | | | I | | | I | | L1 11 | | I | I |

0

u.ny —
0.0081 17
0.006 —60(
0.004 - eoc
0.0021-
. 40
O
-0.002 a0
-0.004 20
-0.006 - ot
-0.008 et ™
~0.0+0.0080.0060.0040.002 0 0.0020.0040.0060.008 0.01
asym_usr
2.0015F =70
0.001 —[o%
R —{50(
2.0005 4
B 40(
D -
N 30¢
2.0005
N 20¢
~0.001
- 10¢
2.0015( M
_I 1 1 | 111 | 1 1 1 | 1 11 | 1 1 1 | 111 | 11 1 I L1 1 | 1 1 1 | L1 1
~0.0+0.0080.0060.0040.002 0 0.0020.0040.0060.008 0.01
asym_usr
u.ny —
0.008F —|80t
0.006
N —50(
0.0041
0.002F —40¢
o
N 30
-0.002F
-0.0041 20¢
-0.006
: 10(
-0.008-
—D.ﬂ _I 1 1 | 1 11 | 1 11 | 1 11 | 111 | 1 11 | 111 I 1 11 | 111 | 1 11
00:0+0.0080.0060.0040.002 0 0.0020.0040.0060.008 0.01
asym_usr
2.0015F 60
0.0011 —50(
2.0005 _aoc
ol
- 30¢
2.0005F
X 20
~0.001F
N 10(
2.0015F
_I 1 1 | 1 11 | 1 11 | 1 11 | 111 | 1 11 | 111 I 1 11 | 111 | 1 11

—0. G- (18 0.0060.0040.002 0 0.0020.0040.0060.008 0.01
I IJ ]] asym_usr
. g

asym_dsr

0.008]- i
0.006F
- —50(
0.004—
B 40(
0.002
O 30(
-0.002
N 20¢
-0.004
-0.006 10¢
-0.008 .
_II|IIII|IIII*IIII|IIII|IIII|IIII|II
~0.0015-0.001-0.0005 0 0.0005 0.001 0.0015
asym_dsr
2.0015 l70c
D.ﬂﬂ"l_— —gor
2.0005 —50(
ol
2.0005F
~0.001F
2.0015F O
_II|IIII|IIII|IIII|IIII|IIII|IIII|II
~0.0015-0.001-0.0005 0 0.0005 0.001 0.0015
asym_dsr
u.ny ==
- L]
- . —60(
0.008F
N O
D.D{}E:— e
0.0041
- —40(
0.002- g "
0=
- 30¢
[ N
-0.002F
- =
-0.004F 20¢
-0.006
- 10¢
-0.008F x
_Dlﬂﬂl_ll|IIII|IIII|IIII|IIII|IIII|IIII|II
~0.0015-0.001-0.0005 0 0.0005 0.001 0.0015
asym_dsr
7.0015
- —60C
0.001F
- —50(
2.0005
0F-
2.0005
~0.001F
2.0015F
_II|IIII|IIII|IIII|IIII|IIII|IIII|II

-0.0015-0.001-0.0005 0 0.0005 0.001 D.OO15
asym_dsr



asym_usl

asym_dsl

asym_usr

asym_dsr

run6384 000

asym_usl

12 [ ndf 40.41 / 37
p0  2.071e-07 £ 2.215e-07

P 0.9989 = 0.0001

0.002

-0.002

-0.004

-0.006

-0.008

—0.0080.0060.0040.002 0 0.0020.0040.0060.008 0.01

asym_usl

0.4l 2 | ndf 32.41 /37
| p0 4 673e-07 + 1.231e-08
0.2— p1 —0.00092 + 0.00072
| J[ Cor factor ~0.0039
= 1 {} %ﬁw& |
i | { H#f T Hfi H| ‘I
0.2
0.4
0.6
— _|||_|||||||III|III||||||||||||||II|III|
—0.0080.0060.0040.002 0 0.0020.0040.0060.008 0.01
¥* / ndf 3937 -
PO —7.553e—06 + 6.956e—06
p1 0.5444 + 0.0040 | i
Car factor 0.4931 H}%H “
0.002 At -
D_
0.002 | iy
- Hl[ JrJrHH
0.004 1 W
_DLDGE_IIII_Ill|||||||||||||||||||||||||II|III|
—0.0080.0060.0040.002 0 0.0020.0040.0060.008 0.01

asym_usl

0.4

0.2

-0.2

-0.4

-0.6

= "
II|III|III|III|III|III|III|
[ —

¥ ndi 34.99 /37
po 1.307e-06 £ 1.444e06
b1 ~0.0008445 + 0.0008443
Cor factor -0.0048

_ Wﬂwﬂﬂ}ﬁﬁ

I
{H

asym

0.003- %2 ! ndf 29.96 / 34
J.0025 :— pO 2.994e-06 + 7.360e-06
0.002 :_ p1 —0.0189 = 0.0262
: Cor factor -0.0039
1.0015
0.001F
0.0005 - ﬂ {
: | M : N
F s
.0005F -
—0.001
:II|IIII|IIII|IIII|IIII|IIII|IIII|II

-0.0015-0.001-0.0005 O

asym_dsl

0.0005 0.001 0.0015

72 [ ndf 36/ 34
po 1.084e-07 £ 3.938e-08

Pl 0.9989 = 0.0001

J.0005

-0.001

J.0015

-0.0015-0.001-0.0005 O

0.0005 0.001 0.0015

asym_dsl
0.002— %2 | ndf 26.01/ 34
: p0 —4.565e—06 + 8.015e-06
0.001— - p1 —0.01759 + 0.02855
} Cor factor —0.0075

-0.001—

-0.002—

K= NS NN N

%WW%W E

-0.0015-0.001-0.0005 O

asym_dsl

0.0005 0.001 0.0015

¥2 ¢ ndf 32.68 / 34
p0 1.037e-06 + 1.448e-06
p1 0007648 + 0.005126
Cor factor 0.0030 )
—
Di_ IWWWM _
+
02f
_03E -
_0.4F-
Y SR N N TN W SR NN

—-0.0015 -0.001-0.0005 l

maindet mutual corre

ation-fit.pne

¥2 | ndf 79.32 /39 - -
pO0 8.344e-06 + 6.39%-06 J[
p1 0.4592 + 0.0034 {
Cor factor 0.4931 qm { {
i ¥
0.002— # }_ )
B +
D -
-0.002— ¥
i H Jrﬂ# !
- -+ [ i
-0.004
i | | 1 | | | | | | | | | | 1 | | | | 1 |
~0.01 ~0.005 0 0.005 0.01
0.4 - 12/ ndi 40.42 / 39
- p0 2198607 + 1234606
0.2 B p ~0.0008551 + 0.000B704
= i Cor factor —0.0075
D __ +H++I FFFII t ':"'”"" y m;.l:' WHIH | +
—0.2F }J i
—0.4
~0.6F
| | 1 | | | | | | | | | | 1 | | | _I 1 |
~0.01 ~0.005 0 0.005 0.01
%2 / ndf 25.72 /39 =
p0  4.322e-07 + 2.276e—07 =
o1 0.9993 £ 0.0001 3
0.0021—
o
-0.0021
-0.004 .
-0.006F a
-0.008F -
— 1 | 1 | | | | | | | | | | 1 | | | | 1 |
~0.01 ~0.005 0 0.005 0.01
- - %% { nd 50.88 / 39
0.6/
- PO 1.816-06 + 1.448-08
0.4 _— p1 —0.001354 £ 0.000779
i 1l Cor factor ~0.0065
0.2} | |
i y )
' HH s o 'WHHH ]
_0.2} - H
i t
~0.4F
=0.6 __ _ -
i | | 1 | | | | | | | | | | 1 | | | | 1 |
~0.005 0 0.005 0.01

asym_dsr
i 2/ ndf 46.56 / 38
0.002 :— p0 5.454e06 + 7.380e—06
| p1 _0.02058 + 0.02253
0.001 :— Cor factor ~0.0048
: | ‘ -
oF mﬂfﬁ*”“’*”mﬁﬁﬁ ﬁu i
—D.nm:— | |
-0.002 :—

—0.0015-0.001-0.0005

asym_dsr

0.0005 0.001 0.0015

E ¥/ ndf 17.8/38
0.3
[ p0 4.451e-07 +1.23%06
0.2 p1 _0.0004597 + 0.0037828
[ Cor factor 0.0030
0.1 |
i H} ﬁ Mk
LI i
0.1 }
-0.2F
—D,E'_I—Illllllllllllllll||||||||||I|||I|_III
—0.0015-0.001-0.0005 0.0005 0.001 0.0015
B ¥/ ndf 50.49 /38
0.002
- p0 —4.114e—06 + 8.027e—06
0,001 p1 _0.04785 + 0.02441
B i Jf Cor factor —0.0065
p ey
~0.001 _|
_0.0021—
_0.003
-_r [ I | I | | | I | | L1 11 | L1 11 | | I | I | I | | L1 1
—0.0015-0.001-0.0005 0.0005 0.001 0.0015
2.0015F p
B Entries 70706
0.001
B 4 Mean 1.042e-06
7.0005
B Meany 1.042e-08
O Std Dev 0.0003762
1.0005 — Std Dev y0.0003762
-0.001F =
1.0015 _7
_I [ I | I | | | I | | L1 11 | L1 11 | | I | I | I | | L1 1

—0.0015-0.001-0.0005

0.0005 0.001 0.0015



asym_usl asym_dsl asym_usr asym_dsr

0.0% 0.0% 0.0%- 0.0%-
0.008F 0.008F | o 0.008F 0.008F
0.006 ’ 0.006 0.006 0.006 '-
0.004— 0.004— 0.004— 0.004—
0.0021— 0.0021— 0.0021- 0.0021—
l o o o o .
as:’ m_us 0.002 -0.002 -0.002 -0.002
-0.004 -0.004 -0.004 -0.004
-0.006 -0.0061 -0.0061 s T -0.006] :
0.008 . -0.0081 . ~0.0081 . -0.0081 .
_I|III|III|III|III|IIIIIII|III|III|III _II|IIII|IIII|IIII|IIII|IIII|IIIIII _III|III|III|III|III|III|III|III|III|III _II|IIII|IIII|IIII|IIII|IIII|IIII|II
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~0.0080.0060.0040.002 0 0.0020,0040.0060.008 0.01 ~0.0015 -0.001-0.0005 0.0p0§ 0.001 0.0015 ~0.010.0080.0060.0040.002 0 0.0020.0040.0060.008 0.01 -0.0015-0.001-0.0005 0 0.0005 0.001 0.0015
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